103 5 & &% 57 FHF P SF4FRa

2% (BLF)

(& &

1. FE—EARENEES T - (A7 7 [EEEE 2N R QB AR 11 (EH#E
IR IER - BRI 2 A 280H 7
i
i @y, @y, e, g MR EOK 0 SiEHn = 16
= A7 0 JISERE N Y
- . SRLL 3
Cigr Ggr e " rlyg
Gryr g Ggr™" " r @3
Crgr Ggr gt "rG1g
Cgr S S """ p By

e, Qg g, """ Tyy

Ry 11 (EESEIE 2 AR IS A1y 2N S R IEB > SR (E S
NI IR B - S8 IN(E 7 (B EB I N /a8 Frb g — TR s g

FORREAE RS R R » T /5 » Abln = 16 - n=16 FYEFIAIT -
5,5,-13,5,5,5,-13,5,5,-13,5,5,5,-13,5,5 °



CE &

* f(x)=ax’ —2(a-b)x+a-2b+c, a0 £0<x<2 Pl -1<f(x)<l-
PFW o 20<x<2 Bl|ax+2bl<4

[%5&%¥]) fQ=c - f(0)=a-2b+c > f(2)=a+2b+cC

a=%[f(0)+ f(2)-2f Q)]

1
b=-11(2)- 1]

|ax+2b|=%|(f(0)+ f(2)-2fQ)x+ f(2)—- f(0)]

:%|(x—1)f(0)+ FQ(x+D-2f Qx|

s%[lx—1|+|x+1|+2|xl]:4



